
SECTION A-A
SCALE 1 : 80

 

  A 

A 

F 

E E E 
D 

C 

A 

B 

c(8), d(8) 

Post #1 is 1" 
higher than 
posts 2-9 

See 
Detail 

See 
Detail 

G E,HE,HE EE 

SEE NOTE #5 

J

 6" 

31 
2 " 

75" 
75" 

371 
2 "371 

2 "371 
2 "371 

2 " 

37'-6" 

371 
2 "371 

2 "371 
2 "371 

2 " 

12345678910 0 

e,f(2),gPost #0 
Anchor Post 
SCALE 1 : 10 

h,j(2),k 

a,b 

K 

SEE NOTE #6 Cable is positioned 
below post bolt for 
Posts 2,4&6 

Section A-A 
Post 2J 

l,m(2),n 

  

2 1 

A 

B 

12 
ITEM QTY BILL OF MATERIALS 

A 1 IMPACT HEAD 

B 1 FIRST PANEL 

C 1 ANCHOR POST 

D 1 NGT FIRST POST 

E 8 NGT POST 

F 1 MGS 12.5' RAIL 

G 1 W6x9 POST 

H 2 NOTCHED BLOCKOUT 

J 1 SHELF BRACKET 

K 1 ANCHOR CAP 

a 1 1" Hex Nut 

b 1 1" Washer 

c 8 5/8" x 1 1/4" SPLICE BOLT 

d 8 5/8" SPLICE NUT 

e 2 1/2"x1.5" HEX BOLT GR 5 

f 4 1/2" WASHERS 

g 2 1/2" HEX NUT 

h 2 7/16"x1.5" HEX BOLT GR 5 

j 4 7/16" WASHER 

k 2 7/16" HEX NUT 

l 1 5/16"x1" HEX BOLT GR 5 

m 2 5/16" WASHER 

n 1 5/16" HEX NUT 

GENERAL NOTES 
1. Cable is postioned below the post bolt at 
posts 2,4&6 prior to fastening the guardrail to 
the post. 
2. Notched blockouts shoud be installed on 
posts 3&5 so that cutout faces traffic. No rail is 
attached to these posts. Cable buttons at 
posts 3 & 5 will nest within the cutout of the 
notched blockouts. 
3.The base plate of the Anchor Post (post 0) 
should be flush with the ground. 
4. Posts 2-9 should be installed so that slots face 
away from the terminal head. 
5. Post bolts do not pass through the guardrail at 
Post 7 & 9. 
6. Anchor nut is torqued to 120 lb-ft. 

TITLE: 
Next Generation Terminal (NGT) 
SCALE: 1:200 10/19/2022 Sheet 1 of 1

B 

A 


	In Reply Refer To: HSST-1/CC-178
	ELIGIBILITY LETTERS
	FEDERAL-AID REIMBURSEMENT
	INTELLECTUAL PROPERTY
	PUBLIC DISCLOSURE

	Request for Federal Aid Reimbursement Eligibilityof Highway Safety Hardware
	Submitter
	Device & Testing Criterion -
	Individual or Organization responsible for the product:
	PRODUCT DESCRIPTION
	CRASH TESTING
	ATTACHMENTS

	MASH 2016 Test 3-30 Summary
	GENERAL INFORMATION
	TEST ARTICLE
	TEST VEHICLE
	Impact Conditions
	Exit Conditions
	Occupant Risk
	Test Article Deflections
	Vehicle Damage

	MASH 2016Test 3-31Summary
	GENERAL INFORMATION
	TEST ARTICLE
	TEST VEHICLE
	Impact Conditions
	Exit Conditions
	Occupant Risk
	Test Article Deflections
	Vehicle Damage

	MASH 2016 Test 3-32 Summary
	GENERAL INFORMATION
	TEST ARTICLE
	TEST VEHICLE
	Impact Conditions
	Exit Conditions
	Occupant Risk
	Test Article Deflections
	Vehicle Damage

	MASH 2016 Test 3-33 Summary
	GENERAL INFORMATION
	TEST ARTICLE
	TEST VEHICLE
	Impact Conditions
	Exit Conditions
	Occupant Risk
	Test Article Deflections
	Vehicle Damage

	MASH 2016 Test 3-34 Summary
	GENERAL INFORMATION
	TEST ARTICLE
	TEST VEHICLE
	Impact Conditions
	Exit Conditions
	Occupant Risk
	Test Article Deflections
	Vehicle Damage

	MASH 2016 Test 3-35 Summary
	GENERAL INFORMATION
	TEST ARTICLE
	TEST VEHICLE
	Impact Conditions
	Exit Conditions
	Occupant Risk
	Test Article Deflections
	Vehicle Damage

	MASH 2016 Test 3-37b Summary
	GENERAL INFORMATION
	TEST ARTICLE
	TEST VEHICLE
	Impact Conditions
	Exit Conditions
	Occupant Risk
	Test Article Deflections
	Vehicle Damage

	Next Generation Terminal (NGT)
	Overall
	Top/Bottom Plate
	Side Panel
	Wedge Assembly
	Wedge Location
	Folder
	Folder - Top Panel Assembly
	Interior Ramp Location 2
	Deflector
	Deflector Weldments
	Collars
	Stiffener
	Assembly
	Weldments - Side
	Weldments - Top
	Shelf Bracket Wing
	Shelf Bracket Connector
	Shelf Bracket Assembly
	NGT 1st Post
	NGT Standard Post

